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(7 marks)
1 Find the value-of 808 000 + 6000
(1) 16
(2) 151
(3) 160
(4) 1510
( )

15



Find the value of 4 x 12-(8-6+3)x 2

(1) 46
(2) 43
3) 34
4 22

. o 2 5
Find the value of z X g

o 2
@ 2
@ L
O
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Sally wantod to buy a computer but the amount of money she had was
5.
only 5 of tho cosl of tho compulor, After her paronts gave her $350;

the amount of moneoy sho thon had was -i- of the cost of the computer.
How much did the compultor cost?

(1)
(2)
()
(4)

$630

$1050
$1675
$3150

The first 17 numbers of a number patlern are given below.

1, 3,6, 4,2 4,8,6, 3,5 10, 8, 4, 6, 12, 10, 5, ...

qst 17t

Find the sum of the first 25 numbers,

(1)
(2)
(3)
4

121
145
175
181
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Questions 6 to 8 carry 1 mark each. Write your answers in the spaces

" : P i i swers in the unils
g{:;/;ged. For questions which require units, give your an; (3 marks)

6 Write seven million, seven hundred and fwo thousand, two hundred
and two in numerals,

Ans:

7 Find the value-of 35 + 9. Express your answer as a mixed number in
the simplest form.

4
8 e— -
Express 5 125 as a decimal.
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Questiona 8 o 13 eary 2 marka each, Show your working clearly and write
VoI anawers iy the spaces provided, For questions which require units, give
VOME anawers in the unita stated, (10 marks)

& DParker swam 50 minutes each day from Monday to Friday. He swam

Joaninutes each day on Saturday and Sunday. How many minutes did
he swin in 40 weeka?

Ans: min

10 Timothy sold 8000 plates of chicken rice and 1500 bowls of prawn
noodles in January, He collacted $45.000 from the sales in danuary.
The amount of money he collected from a bowl of prawn noodles is
wice the amount of money he collected from a plate of chicken rice.

What was the amount of money he collected from a plate of chicken
nca?

Ans: §
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11 A room has a breadth of 13 m and a length of 36m. find the area of the room.
3

Ang: m?

12 Mindy bakod a total of 113 cookles and brownies. After glving away %
of the cookles and 36 brownles, she had an equal number of cookies
and brownlos left. How many cookles did she bake at first?

Ans:
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13

Taylor saved 2 notes in her piggy bank each day for 10 days. Each
note was either a $2 note or a $5 note. The total amount of money in
the piggy bank was $61. How many of the notes were $2 notes?

ANS: —

gnd of Paper

79 FEB 200
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